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Bihar B.ed Previous Year Paper  
 

[Part - 1] General English Comprehension 
 

Directions (1-10): Read the following passage carefully 
and choose the best answer out of the four choices given 
after each question that follows. 
 

‘The Tower’ is a poem written by Yeats. It has three parts 
that correspond to three stages of life, or three modes of 
relating to the world, but not in scheme as simple as 
youth, adulthood and old age. Rather, the �irst and third 
parts or the �irst and third poems in a three poem 
sequence chart the internal experiences of an accelerating 
mind within a decelerating body. The second part is a 
more external reminiscence, passing elegiacally over the 
lore of the land. The dying poet is taking a nostalgic 
survey of this works. The �irst and third parts take place 
within a dreaming mind, while the second takes place 
within the dream. 
 

If we think of this poem as a ceremony, the �irst part 
senses that the end is near, but is not ready to face it; the 
second part is a preparation ritual, and the third arrives at 
readiness and passes into nothing. If this passing is to 
have any meaning, the poet must propel himself 
enthusiastically into the next world rather than fall, 
withered and bedraggled, out of this one. To do so, he 
must �ind the memories in which he was most alive, may 
be ones that still hurt the most. These moments were 
truly his, and so are truly his to leave behind.  
 

1. The author compares the poem as a whole to :  
 (a) Folklore  (b) A dying person  
 (c) A ceremony  (d) A memory  
 

2. The Poet must “Find the memories in which he was 
most alive” in order to :  

 (a) Keep away death  
 (b) Become a poet  
 (c) Regain memories  
 (d) Leave this world with signi�icance  
 

3. The phrase “passing elegiacally over the lore of the 
land” indicates that the poet was :  

 (a) A slow runner  
 (b) Speaking at funeral Home  
 (c) Narrating ancient tales  
 (d) ’s work 
 

4. “The �irst and third poems” differ from the second in 
that :  

 (a)  They are nostalgic  
 (b)  They give an account of the poet’s inner 

experience  
 (c)  They are part of a cremation ceremony  
 (d)  They are enthusiastic  
 

4. The “three stages of life” refers to :  
 (a) Youth, adulthood and old age  
 (b) Body, teenager, adult  
 (c) The life cycle of a poem 
 (d) Three ways of being in the world  
 

6. “The Tower” is a poem written by Yeats. This is a :  
 (a) Simple sentence  
 (b) Complex sentence  
 (c) Compound sentence  
 (d) Complex - compound sentence  
 

7. “The second part is a more external reminiscence 
passing elegiacally over the lore of the land.” This is 
a:  

 (a) Complex sentence  
 (b) Compound sentence  
 (c) Complex - compound sentence 
 (d) Simple sentence  
 

8. “Passing” in the sentence in question 7 is a :  
 (a) Gerund  
 (b) Present participle 
 (c) Past participle  
 (d) None of these  
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9. “Passing” in ‘If this passing is to have any meaning’ is 
a :  

 (a) Noun  
 (b) Finite verb  
 (c) Non - �inite verb 
 (d) None of these  
 

10. “The next world” refers to :  
 (a) The world of youth  
 (b) The world of adulthood  
 (c) The world of old age  
 (d) The world of death 
 

Directions (11-15): Read the passage carefully and 
answer the questions chosen from the 4 choices given 
against each. 
 

Educational planning should aim at meeting the 
educational needs of the entire population of all age 
groups. While the traditional structure of education has a 
three layer hierarchy from the primary stage to the 
university represents the core, we should not overlook 
the periphery which is equally important. Under modern 
conditions, workers need to rewind or renew, their 
enthusiasm, or strike out in a new direction, or imporve 
their skills as much as any University Professor. The 
retired and the aged have their own needs as well. 
Educational planning in other words, should take care of 
the needs of everyone. 
 

Our structure of education have been built up on the 
assumption that there is a terminal point to education. 
This basic defect has become all the more harmful today. 
A UNESCO report certi�ied ‘Learning to Be prepared by 
Edgar Faure and others in 1973 asserts that the education 
of children must prepare future adult for various forms of 
self - learning. A viable education system of the future 
should consist of modules with different kinds of 
functions serving a diversity of constituents. And 
performance not the period of study should be the basis 
for credentials. 
 

In view of the fact that the signi�icance of a commitment 
to lifelong learning and lifetime education is being 
discussed only in recent years even in educationally 
advanced countries, the possibility of idea becoming an 
integral part of educational thinking seems to be a far cry. 
 

To move in the direction means much more than some 
simple rearrangements of the present organization of 
education. But a good beginning can be made by 
developing Open University programs for older learners 
of different categories and introducing extension services 
in the conventional colleges and schools. These 
institutions should also learn to cooperate with 
community organizations such as libraries, health 
services etc.  
 

11. Our structure of education have been built up on the 
assumption that :  

 (a) There are many faces of education  
 (b) There is no system of education  
 (c) There is terminal point to education 
 (d) None of the above  
 

12. The basis for credentials for viable education system 
should be :  

 (a) Performance  
 (b) Period of study  
 (c) Study hours  
 (d) All of these 
 

13. According to the passage, the present education 
structure assumes that :  

 (a) All people can be educated as per need  
 (b) Educational planning at present in practical  
 (c) Education is one time process  
 (d) None of the above  
 

14. The traditional structure of education has a :  
 (a) Two layer hierarchy  
 (b) Three layer hierarchy  
 (c) Four tier system 
 (d) All of the above  
 

15. Educational planning should aim at meeting the 
education needs of :  

 (a) Early childhood age group  
 (b) Teenagers  
 (c) All age groups  
 (d) None of the above 
 

[Part - 2] General Hindi 
 

16.   ?  
 (a) समास  (b) णषशेवि  
 (c)  धिंस  (d)  

 

17.  - 
 (a)  (b)  
 (c) सार  (d)  

 

18.  
ह ै- 

 (a)  (b)  
 (c)  (d)  

 

19.  ? 
 (a)  
 (b)  
 (c)  
 (d)  -  ैह ातोह राकवि  
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20. ‘लोटा - डोरी’ कौन - सा समास ह ै? 
 (a)  (b)  
 (c)  (d)  
 

21. ‘हथकड़ी’  - सा समास ह ै? 
 (a)  (b)  
 (c)  (d)  
 

22.  –  
,  - 

 (a)  (b)  
 (c)  (d)  
 

23.  -  ? 
 (a) आकड़  (b) कड़  
 (c) ड़ (d)  
 

24.  ? 
 (a)  (b) वीर 
 (c)   (d)  
 

25.   ?  
 (a) 12  (b) 16 
 (c) 13  (d) 10  
 

26. ‘ ’  कौन - ैह राकंलअ ास  ?  
 (a) उपमा  (b)  
 (c)  (d) यमक  
 

27. ‘ ’   - 
 (a)  (b)  
 (c)  (d)  
 

28.  
 (a) हवा  (b) आग 
 (c) जल  (d) आम  
 

29.   
 (a) लोचन  (b) गृम  
 (c)  रकाधुस  (d) कलोल  
 

30.  
 (a)  धेषनि  (b)  
 (c) िवयोग  (d)  
 
[Part-3] Reasoning (ता कक एव ंिव षेणा मक िच तन) 
 
िनदश (31-34): 

 
 

M, N, O, P, Q और R R O ह,ै 
R N ह,ै M का िपता P  रऔ ैह P का पोता R  ।ैह

 
 

31. R  ?  
 (a) N (b) O 
 (c) Q (d) P  
 

32.  ?  
 (a) दो (b) तीन  
 (c) चार  (d) दो या तीन  
 

33.  - 
 (a) P, Q  (b) N, Q 
 (c) R, Q  (d) O, Q  
 

34. M और Q  ? 
 (a) P (b) R  
 (c) N  (d) O 
 

35.  - 

 
 (a) 86  (b) 83  
 (c) 120  (d) 90 
 

िनदश (36-39): 
 

 

36. 0, 7, 26, 63, ?, 215 
 (a) 104 (b) 124 
 (c) 126 (d) 134  
 

37. 3, 16, 42, 81, 133, ? 
 (a) 166  (b) 185 
 (c) 198  (d) 208  
 

38. 1, 8, 27, ?, 125, 216  
 (a) 54 (b) 64  
 (c) 84  (d) 100  
 

39. 2, 9, 23, 51, 107, ? 
 (a) 214  (b) 216 
 (c) 218  (d) 219  
 

40. ‘Family’ 316459 और ‘Sister’ 747820 
, तब ‘Mistress’ 

ागेयाज ?  
 (a) 64870277  (b) 64708277 
 (c) 64782077  (d) 64780277  
 

41. ‘boy’ को AAQQZZ  , तो 
‘Cat’ ?  

 (a) CCBBUU  (b) BBCCTT  
 (c) BBCCUU  (d) BBCCSS 
 

िनदश (42-46): िन िलिखत अनु छेद को पढ़ और दए गए  के 
उ र द। 
 

A और B , B और E , A और C 
, C और D C और E 
 

 

42.  ?  
 (a) B (b) D  
 (c) E  (d) C  
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43. , ैह ातलखे लॉबीलॉव रऔ सनिटे  ? 
 (a) C (b) D  
 (c) E (d) A  
 

44. ,  ? 
 (a) A (b) B  
 (c) C (d) D 
 

45.  ?  
 (a) A (b) C  
 (c) D (d) E  
 

46. कौन वॉलीबॉल, , टेिनस और फुटबॉल ैह ातलखे  ?  
 (a) A  (b) C  
 (c) D (d) B  
 

िनदश (47-49): िन िलिखत अनु छेद को पढ़ और दए गए  के 
उ र द।  
 

A, B, C, D और E सभी के पास 6 B E  ेनसजि ैह ातेद ोक
D को दी। A C B  ।ैह ातेद ोक B 
D A  ।ैह ातेद ोक  

 

47. B  ? 
 (a) 2 (b) 8 
 (c) 7 (d) 3  
 

48. C  ?  
 (a) 3 (b) 7  
 (c) 8 (d) 9  
 

49.  ?  
 (a) B (b) C  
 (c) D  (d) E  
 

50. ‘Friend’ ंबंस ाक धवाचक ‘Friendly ह,ै तो इसके 
 ?  

 (a) Enemy  (b) Hostile 
 (c) Defeat  (d) Contest  
 

51. 16 60 , 6 .ीमेस  
 

 (a) 22.5  (b) 26  
 (c) 56  (d) 62  
 

 

52. 172 और 272 के 20% ैह रतंअ ाक चीब के  - 
 (a) 40  (b) 20 
 (c) 35  (d) 30  
 

53. 124 और 93 
 ।ैह ीतकस रक तजिाभवि  

 (a) 24  (b) 31  
 (c) 26 (d) 27  
 

54. 4  
6 

ागरेक ारूप  ?  
 (a) 10  (b) 60  
 (c) 34  (d) 30  
 

55. करण 2 90 हव ।ैह ातलच रटीम  
तय करेगा ?  

 (a) 225 मीटर  (b) 180 मीटर  
 (c) 340 मीटर  (d) 50 मीटर 
 

[Part - 4] General Knowledge (सामा य जानकारी) 
 

56. ‘  :  ’ 
 . . . . . . . .  

 (a)  (b)  
 (c)  (d) सर सी. वी. रमन  
 

57.  . . . . . . . . . . . . . .  था।  
 (a) 1690  (b) 1639 
 (c) 1693  (d) 1689  
 

58. (Bacteriophage)  - 
 (a) (Felix d’ Herelle)  
 (b) (Hanbury Hankin)  
 (c) (Zacharias Janssen) 
 (d)  नेसनाज संह (Hans Janssen)  
 

59. (Aichi Targets)  
 ?  

 (a) 2030  (b) 2020 
 (c) 2050  (d) 2040  
 

60. कृिष  
 ?  

 (a) वन -  (b) मछली पालन  
 (c) षिकृ तषिोपंस कविैज  (d)  
 

61.  -  
जाता ह ै- 

 (a) बागवानी  (b)  
 (c)  (d)  
 

62.  -  
थी ? 

 (a) सीलोन  (b)   
 (c)  (d)  ्मरुपाधारुनअ  
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63. चाबहार (Chabahar)  . . . . . . . . . . .  था ?  
 (a)  (b) ईरान 
 (c) इराक  (d)  

 

64. , झािड़याँ, जड़ी - 
, , हाथी, पँास ,  कढेम

, 
 - 

 (a)  (b)  
 (c)  (d)  

 

65.  (UNFCCC 
COP24), 2018 24  . . . . . . 
. . . . . . .  

 (a) कटोिवस,  (b) नगेहनेपोक ,  
 (c) , जापान  (d) , कनाडा  

 

66.  -  

 ? 
 (a)   (b)  
 (c)  (d)  

 

67.   नटंवआ के ातयाहस
(Gadgil 

formula) . . . . . . . . . . . . .  
 (a)  (b)  
 (c)  (d)  

 

68. नौक ाक नाधविंस यीतराभ  -  
  ? 

 (a) 1  (b) 14 
 (c) 21 (d) 51  

 

69. (Wales)  कौन - सी ह ै?  
 (a)  (b)  
 (c) डबिलन  (d)  नदंल  

 

70.  ह ै? 
 (a) हडसन (Hudson)  (b)  कैमोटोप (Potomac)  
 (c) िमिसिसपी (Mississippi) (d) कोलोराडो (Colorado)  

 

71. भारत के 70  कौन थे ?  
 (a)  रामाफोसा  
 (b)  
 (c)  -  -  डेेज  
 (d)  

 

72.  ? 
 (a) पािल  (b)  
 (c)  (d)  

 

73.  . . . . . . . . . . के  
 

 (a)  नाख जेगंच  (b) बाबर 
 (c)  (d)  रूमैत  
 

74. ‘चार मीनार’  कराया था ?  
 (a)  (b)  हाश बुतकु ीलकु  
 (c)  (d) II 
 

75.  ाक लागंब  - 
 (a)  (b)  
 (c)  (d)  
 

76. ‘ ्मरताम ेदंव ’  के . . . . . . . . . 
. .  

 (a) 1886  (b) 1892 
 (c) 1896  (d) 1904  
 

77.  . . . . . . . . . के दौरान 
 ।ेनब ीधंाग  

 (a)  
 (b)  
 (c) 1919   नशेवधिअ रसतृमअ  
 (d)  
 

78. ‘ ’  ानाज ेस मान के
जाता ह ै?  

 (a)  (b)  
 (c)  (d)  
 

79.  - सा  ?  
 (a) यानम  (b) माह े
 (c) कराईकल  (d)  ीभस ेय  
 

80.  - 
 (a)  
 (b)  
 (c)  िगरावट  
 (d)  
 

81.  - 
 (a)   (b)  
 (c) िविध  (d)  
 

82.  ह ै? 
 (a) अवशोषण  (b)  
 (c) वसा का पाचन (d)  
 

83. ,  - 
 (a)    ैह ातरक  
 (b)   , 

  
 (c)   

 
 (d)   
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84.  - 
 (a)  सरयाव रऔ ुणावीज  
 (b)  कवक रऔ ुणावीज  
 (c) हरे ुणावीज छकु रऔ धेौप  
 (d)  
 

85.  होता ह ै- 
 (a)  
 (b)  
 (c) आयनीकरण  
 (d)  
 

86.  रैग  -  ?  
 (a) N  (b) O 
 (c) C (d) F  
 

87.  . . . . . . . . . . के 
  

 (a)  (b)  
 (c) रचयभउ रऔ ँायलिछम  (d) उभयचर और सरीसप  
 

88. 28  
मनाया जाता ह ै- 

 (a)  ‘ ’  के िलए  
 (b)  ‘सर सी. वी. रमन’  
 (c)  डॉ. ए. पी.  
 (d)  सर सी.  

 
 

89. एम. आर. आई. (M. R. I.)  - 
 (a)  
 (b)  
 (c)  
 (d)  
 

90.  - 
 (a) Cu = 60 %, Sn = 40 %  
 (b) Cu = 80 %, Sn = 20 %  
 (c) Cu = 70 %, Sn = 30 % 
 (d) Cu = 90 %, Sn = 10 %  
 

91.  - सा भौितक  ?  
 (a)  
 (b)  
 (c)  
 (d) (एलपीजी) के दहन  
 

92.   
. . . . . . . . . . . .  ।ैह ाताज ायानम ोक  

 (a) 2 फरवरी  (b) 22  
 (c) 22  (d) 22 मई  
 

93.  . . . . . . . . . .   ।ैह ातखर  
 (a)  ननिेडए  (b) लसिारूय  
 (c)  ननिआुग  (d) थाईिमन  
 

94. . . . . . . . . . .   ।ैह ातोह  
 (a)  (b)  
 (c)  (d) एमाइटोिसस  
 

95.  -   ।ैह  
 (a) िवटािमन ए, डी  (b) िवटािमन ई, के  
 (c) िवटािमन बी, सी  (d)  
 

[Part - 5] Environment of teaching and 
knowledge in schools  

(िव ालय  म िश ण एवं ान का वातावरण) 
 

96.   - 
 (a)   

  ानेद  
 (b)    - सा 

 
 (c)    एलि के ेनरक नयच

 
 (d)   करना 
 

97.   ेस
 ैह ीतछूप/ातछूप “ ” ?  - 

 (a)   या 
 

 (b)   
 

 (c)   
 

 (d)  , 
वह अपनी हल करने  

 

98.  - 
 (a)   

 ैह  
 (b)   
 (c)   उपयोग के िलए 

 ैह ातरक तहि  
 (d)    चँाज कधिअ रऔ

 ैह ानरक  
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99.  
चािहए - 

 (a) अिधक - से -  
 (b) अिधक - से -  
 (c)  
 (d)  - से - अिधक  

 

100.  - 
 (a)  
 (b)   
 (c) न करना  
 (d)  रखना  

 

101. ,  
 . . . . . . . . . . .  ।ैह यषवि ाक  

 (a)   का  
 (b)   

 
 (c)   
 (d)   

हो  
 

102.  - 
 (a)  
 (b)  
 (c)  करना  
 (d)  
 

103.  - . नसाशुनअ  . . . . . . . . . . . . . . . .  
चािहए।  

 (a)   
 (b)  
 (c)  
 (d)  
 

104.  -  
 ?  

 (a)  
 (b)  
 (c)  
 (d)  

 

105.  ?  
 (a)   

 
 (b)    
 (c)   
 (d)    
 

106.  
 ?  

 (a)  
 (b)  
 (c)  
 (d)  

 

107.  को . . . . . . . 
. . . . . . . . .  ।ैह ातरक ातयाहस  

 (a)  -  
 (b)  
 (c)  
 (d)  

 

108.  -  -  
 (a)  
 (b)  करना  
 (c)  
 (d) अिधगम को आसान बनाना  

 

109.  पड़ सकता ह,ै 
 –  

 (a)   
 (b)    
 (c)  करने 

 
 (d)  बार -  हो  
 

110.   - 
 (a)   
 (b)    ैह  
 (c)   - भरकम  

 
 (d)   
 

111.  - 
 (a)  
 (b)  -  
 (c)  
 (d)  

 

112.  - 
 (a)  बनाना  
 (b)  करना  
 (c)  करना  
 (d)  बनाना  
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113. नादआ ानचूस  -  
ागेयाज ,  - 

 (a)   
  ैह ातकस रक  

 (b)   -   ैह ातढ़ब  
 (c)    
 (d)  अनु  
 

114.   ?  
 (a)  
 (b)  -  
 (c)  
 (d)  कम करेगा  
 

115.  - 
 (a)  
 (b)  
 (c)  
 (d)  
 

116.  
 

चािहए - 
 (a)  
 (b)  
 (c)  
 (d)  
 

117. ‘ ’   तसिकवि ेस केीरत
 - 

 (a)   
 (b)   
 (c)   
 (d)   -  करना 

िसखाकर  
 

118.  . . . . . . . . . . . . . . . 
रखनी होगी।  

 (a)  - ीलैश   (b)  
 (c)  (d)  
 

119.  
कौन -  ?  

 (a)  होगी 
 (b)   ैह तलग  
 (c)  कहना होगा  
 (d)   ागोह ानेद ाकौम  
 

120. ,  - 
 (a)   
 (b)   का उपयोग करता 

 ैह  
 (c)   

 ैह ातरक  
 (d)   ।ैह ातरक

 
Solutions 

 

1. (c):  2.   (d): 3.   (d): 
 

4. (b):  5.    (a): 6.   (b): 
 

7. (c):  8.   (a): 9.   (a): 
 

10. (d):  11. (c): 12. (a): 
 

13. (d):  14. (b): 15. (c): 
 

16. (c):   धिंस ( ‘ लेम ’। दो 
 ,  ेतहक धिंस ेसउ

 
 

17. (a):   -  
 

 

18. (c):   
हो,  - नीलकंठ -  ैह ालीन

 िशव।  
 

19. (c):    
 

20. (d):   
पर ‘और’ अथवा ‘या’ कजोय ंवए  , 

।ैह ातालहक सामस  
 

21. (b):   गौण हो, 
 

 

22. (b):  ,   ीनपअ रकड़ुज
,   

 

23. (d):    
 

24. (c):   
 ही 

।ैह  
 

25. (c):   तथा तीसरे 
13 - 13  11 - 

11  
 

26. (d):   - बार हो और 
 - ,  ातोह राकंलअ कमय ँाहव बत

।ैह  
 

27. (d):  (  वह 
 ाक ेन ।ोह न वभुनअ  

 

28. (c):   
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29. (c):   ाक कंागृम  
 

30. (a):   
 

 31 स े34 तक के िलए सकेंत - 

 
 

31. (c):  32. (b): 33. (d): 
 

34. (d): 
 

35. (a):  (2)² + (2)² + (4)² + (3)² = 33;  
   (3)² + (2)² + (5)² + (4)² = 54; 
   (6)² + (5)² + (4)² + (3)² = 86  
 

36. (b):   

 
 

37. (c):   

 
 

38. (b):   

 
 

39. (d):   

 
 

40. (d):  MISTRESS → 64780277 
 

41. (c):  CAT → BBCCUU 
 

 42 स े46 तक के िलए सकेंत - 

 
 

42. (c):  43. (d): 44. (b): 
 

45. (c):  46. (b): 
 

 47 स े49 तक के िलए सकेंत - 

 
 

47. (d):  48. (c): 49. (c): 
 

50. (b):  

 

51. (a):  16 = 60  
   1  = 60

16
 

   6 .ीमेस   = 60 × 6 
16

 

   = 22.5  

 

52. (b):  −  (172 × 20
100

) + (272 × 20
100

)  
   = - 34.4 + 54.4 = 20 

 

53. (b):  म.स. 124 और 93 का = 31 

 

54. (b):  

 
⟹ x = 1×4×15

6
= 10  

 

55. (a):  2 90 मी. 
   1  90

2
 

   5 90
2

× 5 

   = 225 मी.  

 

56. (c): 
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57. (a):   के 
थे, 1690 

ीतुनातुस वँाग नीत एलि , 

को  
 

58. (a):  ‘  वाला’ का 
 - डी -  

 

59. (b):  60. (c): 61. (d): 
 

62. (d):  63. (b): 64. (d): 
 

65. (a):   2018 
, 2 स े 15 , 2018 को 

 
 

66. (c):  67. (a): 68. (a): 
 

69. (a):  70. (b): 71. (a): 
 

72. (a):  73. (d): 
 

74. (b):    ेन
1591  

 

75. (d): 
 

76. (c):   
,  , 1896 

गया था। 
 

77. (a):  78. (b): 79. (d): 
 

80. (c):  81. (b): 
 

82. (a):  ‘ तँआ ीड़ब ’ (Large Intestine) एक मोटी नली 
, 

(Absorption) होता ह,ै 
‘ तंआ ीटोछ ’ (Small Intestine) 

(Food) ।ैह ीतरक तषिोशवअ ोक  

 

83. (b):  84. (c): 
 

85. (d):    केसजि ैह ातखर
 ।ैह ाताज  

 

86. (d):  87. (b): 
 

88. (a):  28  ‘रमन 
’  के िलए मनाया जाता 

।ैह  
 

89. (b): 
 

90. (d):  ‘ लटेम नग ’ (Gun Metal)  (Alloys) ह,ै 
िजसके अवयव घटक Cu + Zn + Sn (90 % + 2 % + 8 
%) तथा उपयोग - तोप, रयेग ,  

 

91. (d):  एल. पी. कतिौभ हय यमस सउ ैह ीतलज बज .ीज  
,   ैह ीतलदब

 
 

92. (d):  93. (b): 
 

94. (b):    ातोह ेस
।ैह  

 

95. (c):  96. (b): 97. (d): 
 

98. (c):  
 

 

99. (d):   - से - अिधक 
 

जाना चिहए। 
 

100. (a):   
 

 
 

101. (b):  102. (c): 103. (b): 
 

104. (b):  105. (c): 
 

106. (c):    षेशवि तिाज
  

 

107. (d):  108. (a): 109. (a): 
 

110. (a):  111. (c): 112. (d): 
 

113. (d):   

 - 
 

 

114. (d):  115. (b): 116. (b): 
 

117. (d):  118. (d): 119. (d): 
 

120. (c): 
 

 
 


